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[Question ID = 766][Question Description = Q66_Kannada_Set1_C]
1. 1 [Option ID = 3061]
2. 2 [Option ID = 3062]
3. 3 [Option ID = 3063]
4. 4 [Option ID = 3064]
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[Question ID = 767][Question Description = Q67_Kannada_Set1_C]
1. 1 [Option ID = 3065]
2. 2 [Option ID = 3066]
3. 3 [Option ID = 3067]
4. 4 [Option ID = 3068]
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[Question ID = 768][Question Description = Q68_Kannada_Set1_C]
1. 1 [Option ID = 3069]
2. 2 [Option ID = 3070]
3. 3 [Option ID = 3071]
4. 4 [Option ID = 3072]
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[Question ID = 769][Question Description = Q69_Kannada_Set1_C]
1. 1 [Option ID = 3073]
2. 2 [Option ID = 3074]
3. 3 [Option ID = 3075]
4. 4 [Option ID = 3076]
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[Question ID = 770][Question Description = Q70_Kannada_Set1_C]
1. 1 [Option ID = 3077]
2. 2 [Option ID = 3078]
3. 3 [Option ID = 3079]
4. 4 [Option ID = 3080]
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[Question ID = 771][Question Description = Q71_Kannada_Set1_C]
1. 1 [Option ID = 3081]
2. 2 [Option ID = 3082]
3. 3 [Option ID = 3083]
4. 4 [Option ID = 3084]
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[Question ID = 772][Question Description = Q72_Kannada_Set1_C]
1. 1 [Option ID = 3085]
2. 2 [Option ID = 3086]

3. 3 [Option ID = 3087]
4. 4 [Option ID = 3088]

63) g U SErw BBIDIC FoDTES, rHhED:

@) Fowo
B) douyrid
©) Qo3

D)y Dacdab 5&:-\;—’5
(E) checing ese3

@ 3N esady v DalTd euEdasl) rdthad:

1) (D). (A). (E). (B). (C)
(2) (C). (D). (A). (B). (E)
(3) (A). (E). D). (B). (C)
4) (B). (D). (A4). (E). (C)

[Question ID = 773][Question Description = Q73_Kannada_Set1_C]
1. 1 [Option ID = 3089]
2. 2 [Option ID = 3090]
3. 3 [Option ID = 3091]
4. 4 [Option ID = 3092]

64) et by, Joworas BPtnh B8uaIs SRRITRSR) Hh3:

(A) & maehio” ey’ Eﬁqd tqsorieﬁ - aOabo Fed

(B) o Mo’ e’ qud Uaason’dea‘ - &eder

(C) aaﬁf}em‘ Mo’ - ﬁmuﬂ“ 5‘45.“0‘

D) w@esnyE HBMID - 3. gggned

(E) B &:K’aﬁ S snmd ma.orjjees‘ - e50° . JoAomaeIan”

B BYNT ey iV oBalred eugdadl) rhthad:

(1)  (E). (D). (B). (C). (&)
2) (D). (B). (A). (C). (E)
(3)  (A). (D). (B).(C). (E)
4 (C). (E). (B). (A). (D)

[Question ID = 774][Question Description = Q74_Kannada_Set1_C]
1. 1 [Option ID = 3093]
2. 2 [Option ID = 3094]
3. 3 [Option ID = 3095]
4. 4 [Option ID = 3096]
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[Question ID = 775][Question Description = Q75_Kannada_Set1_C]
1. 1 [Option ID = 3097]
2. 2 [Option ID = 3098]
3. 3 [Option ID = 3099]
4. 4 [Option ID = 3100]
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[Question ID = 776][Question Description = Q76_Kannada_Set1_C]
1. 1 [Option ID = 3101]
2. 2 [Option ID = 3102]

3. 3 [Option ID = 3103]
4. 4 [Option ID = 3104]
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[Question ID = 777][Question Description = Q77_Kannada_Set1_C]
1. 1 [Option ID = 3105]
2. 2 [Option ID = 3106]
3. 3 [Option ID = 3107]
4. 4 [Option ID = 3108]
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[Question ID = 778][Question Description = Q78_Kannada_Set1_C]
1. 1 [Option ID = 3109]
2. 2 [Option ID = 3110]
3. 3 [Option ID = 3111]
4. 4 [Option ID = 3112]
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[Question ID = 779][Question Description = Q79_Kannada_Set1_C]
1. 1 [Option ID = 3113]
2. 2 [Option ID = 3114]
3. 3 [Option ID = 3115]
4. 4 [Option ID = 3116]
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[Question ID = 780][Question Description = Q80_Kannada_Set1_C]
1. 1 [Option ID = 3117]
2. 2 [Option ID = 3118]
3. 3 [Option ID = 3119]
4. 4[Option ID = 3120]
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[Question ID = 781][Question Description = Q81_Kannada_Set1_C]
1. 1 [Option ID = 3121]
2. 2 [Option ID = 3122]
3. 3 [Option ID = 3123]
4. 4 [Option ID = 3124]
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[Question ID = 782][Question Description = Q82_Kannada_Set1_C]
1. 1 [Option ID = 3125]
2. 2 [Option ID = 3126]
3. 3 [Option ID = 3127]
4. 4 [Option ID = 3128]
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[Question ID = 783][Question Description = Q83_Kannada_Set1_C]
1. 1 [Option ID = 3129]
2. 2 [Option ID = 3130]
3. 3 [Option ID = 3131]
4. 4 [Option ID = 3132]
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[Question ID = 784][Question Description = Q84_Kannada_Set1_C]
1. 1 [Option ID = 3133]
2. 2 [Option ID = 3134]
3. 3 [Option ID = 3135]
4. 4 [Option ID = 3136]
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[Question ID = 785][Question Description = Q85_Kannada_Set1_C]
1. 1 [Option ID = 3137]
2. 2 [Option ID = 3138]

3. 3 [Option ID = 3139]
4. 4 [Option ID = 3140]
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[Question ID = 786][Question Description = Q86_Kannada_Set1_C]
1. 1 [Option ID = 3141]
2. 2 [Option ID = 3142]
3. 3 [Option ID = 3143]
4. 4 [Option ID = 3144]
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[Question ID = 787][Question Description = Q87_Kannada_Set1_C]
1. 1 [Option ID = 3145]
2. 2 [Option ID = 3146]
3. 3 [Option ID = 3147]
4. 4 [Option ID = 3148]
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[Question ID = 788][Question Description = Q88_Kannada_Set1_C]
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. 2 [Option ID = 3150]

1
2
3. 3 [Option ID = 3151]
4. 4 [Option ID = 3152]

79) 8 3YAR 3INVR), g EbEdabd HhaY
@) cveabg
B) waos

(Cy =@dmd

s Gl e R



Wy

(E)

VW U0

SPR.lemixa

B BYNT sady Ve Rbdred evgdaal) rhthad:

(1)
(2)
(3)
4)

(A4). (B). (C). (D). (E)
(4). (C). (D). (B). (E)
(D). (C). (A). (B). (E)
(B), (C). (A). (D). (E)

[Question ID = 789][Question Description = Q89_Kannada_Set1_C]
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[Question ID = 790][Question Description = Q90_Kannada_Set1_C]
1. 1 [Option ID = 3157]
2. 2 [Option ID = 3158]
3. 3 [Option ID = 3159]
4. 4 [Option ID = 3160]
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[Question ID = 791][Question Description = Q91_Kannada_Set1_C]
1. 1 [Option ID = 3161]
2. 2 [Option ID = 3162]
3. 3 [Option ID = 3163]
4. 4 [Option ID = 3164]
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[Question ID = 793][Question Description = Q93_Kannada_Set1_C]
1. 1 [Option ID = 3169]
2. 2 [Option ID = 3170]
3. 3 [Option ID = 3171]
4. 4[Option ID = 3172]
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[Question ID = 795][Question Description = Q95_Kannada_Set1_C]
1. 1 [Option ID = 3177]
2. 2 [Option ID = 3178]
3. 3 [Option ID = 3179]
4. 4 [Option ID = 3180]
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[Question ID = 796][Question Description = Q96_Kannada_Set1_C]
1. 1 [Option ID = 3181]
2. 2 [Option ID = 3182]
3. 3 [Option ID = 3183]
4. 4 [Option ID = 3184]
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[Question ID = 797][Question Description = Q97_Kannada_Set1_C]
1. 1 [Option ID = 3185]
2. 2 [Option ID = 3186]
3. 3 [Option ID = 3187]
4. 4 [Option ID = 3188]
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[Question ID = 798][Question Description = Q98_Kannada_Set1_C]
1. 1 [Option ID = 3189]
2. 2 [Option ID = 3190]
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4. 4 [Option ID = 3192]



89) ou50in08,005a080mE wey, 3aRW

1) edIdod 2) oz33od
3) oo3dd 4) Brow3doid

[Question ID = 799][Question Description = Q99_Kannada_Set1_C]
1. 1 [Option ID = 3193]
2. 2 [Option ID = 3194]
3. 3 [Option ID = 3195]
4. 4 [Option ID = 3196]
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[Question ID = 800][Question Description = Q100_Kannada_Set1_C]
1. 1 [Option ID = 3197]
2. 2 [Option ID = 3198]
3. 3 [Option ID = 3199]
4. 4 [Option ID = 3200]

Topic:- GP10_D2_SH1_SET2_A

1) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTech (60) | MCA (60) | MTech (30) | MPhil (20) | Integrated MTech (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

aiferest @1 ATt gda siezrior B aiiz offd fou o1 ysst @1 32 S :
forgerferRaa aferet 3 5 firoor adl 3f uia freer urgaragl i onarifpa frenffil @1 frazor Rar srr 3

feravfl : wisswl i yea Fwar g urgaas &l sftreasn A corfd

rRIa

ad | 2w (60) | wasfiu (60) | wrew (30) | wrfisar (20) | wRea @ (30)
2016| 45 52 25 16 26

2017| 55 56 26 18 24

2018 48 43 21 14 25

2019| 53 40 23 15 23

2020 50 46 28 13 27

In which year, was there the highest student enrollment?
o2t add 3 srftrasaer fenelf swetiaser g3m & ?

[Question ID = 1951][Question Description = S2_qSNz_PG_GP10_Q01]
1. 2019

[Option ID = 7801]
2. 2017

[Option ID = 7802]
3. 2020

[Option ID = 7803]
4. 2016

[Option ID = 7804]

2) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses

BTech MCA MTech MPhil Integrated MTech
(60) (60) (30) (20) (30)

2016| 45 52 25 16 26

2017 55 56 26 18 24



2018| 48 43 21 14 25

2019 53 40 23 15 23

2020 50 46 28 13 27

aiferast @1 Araemsll ydm srezrIor HIfSie siiz offar fow a1w grsr @t 3= Eifvie :
forgarferfRaa aiferer 3 5 firoor auf 3f uia freor urgerayl 3 onwifpa frenffil w1 fraur oo s 3
feoauft : wIcow! # Yo AR Y® urgad bt siftraaa i orfd &

aIgIRH
ad [ 2@ (60)wifte (60)wies (30)wafba (20)w=Hfra wies (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

What is the difference between average vacant seats in BTech and average vacant seats in MTech during 2016-20.
2016 - 20 & Sirat 1. 2o 3 3iRaa Frep A sie varees 3 sita fep Mt & dfa siar fvdon 3 ?

[Question ID = 1952][Question Description = S2_qSNz_PG_GP10_Q02]
1. 4.2

[Option ID = 7805]
2. 4.3

[Option ID = 7806]
3. 4.4

[Option ID = 7807]
4. 4.1

[Option ID = 7808]

3) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60) (60) (30) (20) (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

aiferet @ Araensil ydas srerior Hifsre siiz offr fow a1 gest @1 3 difdie ©
forgaifeiRaa arferar 3t 5 ool aul 3 uia fBreor urgRIaygil 3 ondHifdpa fRrenfRil @1 vt G sk 3
feouvft : wreodl # Yod AN y® uigamd & siftrpaa A corfdt &

Rt
af [ 2w (60)fmaite. (60) e (30)eafba (20)mRea wzw (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
20200 50 46 28 13 27

Which year has highest number of vacant seats?

fopar ad 3 e it 6t zizean siftroaa 3 ?

[Question ID = 1953][Question Description = S2_qSNz_PG_GP10_Q03]
1. 2019

[Option ID = 7809]
2. 2020

[Option ID = 7810]
3. 2018

[Option ID = 7811]
4. 2017

[Option ID = 7812]

4) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.




Courses
BTech MCA MTech MPhil Integrated MTech
(60) (60) (30) (20) (30)
2016| 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

aiferat @ Araemsll ydd srerIor HIfsie siiz off fou a1w grer @I Iar €ifvie :
forgarferRaa aiferer 3 5 firoor adf 3 uia ficor urgrayl 3 owiftba frenffil w1 fraur = s 3
feouvft : wrsoml # yga A yAw urghad G siftrasaa A gorfd &

arRIa
ad (. 2w (60)emfie. (60)eaes (30)wifba (20)|miRea wew (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
20200 50 46 28 13 27

Which course has minimum number of total vacant seats during 2016 to 2020?
2016 1 2020 @ giaret fopar o 3 e ¥ el b iz syprasn 3 ?

[Question ID = 1954][Question Description = S2_qSNz_PG_GP10_Q04]
1. B.Tech/dt2®

[Option ID = 7813]
2. MCA/uafte.

[Option ID = 7814]
3. M.Tech/wieas

[Option ID = 7815]
4. M.Phil/wafber

[Option ID = 7816]

5) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60) (60) (30) (20) (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

aiferat @ Araensfl yda srerIel HIfstu siiz offa fou s1w ypst @t Jar difvre :
forraifeiRaa arferer 3 5 ool aul 3 uia fBreor urgRIayil 3 ondifdpa fRrenfRil @1 frarur G sk 3
feauvft : wreodl # yod AN gA® uigamdA bl siferpaa M corfdt &

I
ad [ 2@ (60)wnfie. (60)wais (30)vafba (20)=aRea wiias (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018| 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

What is the difference between average enrollment in 2016 and average enrollment in 2017?
2016 3 3iie1d omicdol @ 2017 3 31 sldAicpel @ dia oI 3idR o= & ?

[Question ID = 1955][Question Description = S2_qSNz_PG_GP10_Q05]
1. 3.0

[Option ID = 7817]
2. 3.3

[Option ID = 7818]
3. 3.4

[Option ID = 7819]
4. 3.2

[Option ID = 7820]



Topic:- GP10_D2_SH1_SET2_B

1) Who among the following is the national coordinator for engineering courses to be launched on SWAYAM platform?
‘FRi' wiewRl Uz 3R fPU SIrel arcl UIGRIadl DI AR AHAGRID Diol 3 7

[Question ID = 1956][Question Description = S2_qSNz_PG_GP10_Q06]
1. AICTE/u amé 2t & €

[Option ID = 7821]
2. NCERT/wor 2ft § ame &

[Option ID = 7822]
3. NPTEL/cor i ¢ § et

[Option ID = 7823]
4. UGC/7sh =t

[Option ID = 7824]

2) What is the name of the software application that facilitates building an early accessible bookmark warehouse that becomes searchable to members or
the public?
3 ATTCARR 31eIYRIIST DT TRAT ol 3 Sl P Ugd drdl Y RIos-3vsRas foraifur 3f AsrIas 3 3iiR Sit AGRIL 31erdr ATATGT SToll GRI ACIOI AT ol SIIelT 3 ?

[Question ID = 1957][Question Description = S2_qSNz_PG_GP10_Q07]
1. Social Bookmarking/zmanfSrw geaamRioast

[Option ID = 7825]
2. Database Management System/sSicrRi Yatror goricit

[Option ID = 7826]
3. Enterprise Resource Planning/3em1 il forisor

[Option ID = 7827]
4. Reference Management Tool/zicsf ytrer 3ua2ur

[Option ID = 7828]

3) Given below are two statements

Statement I: Reliability refers to whether a test measures what it says it measures.

Statement II: Validity refers to whether a test consistently yields the same or similar scores.

In light of the above statements, choose the most appropriate answer from the options given below
ol Y werot e are 3 :

woet - | 1 frareiiRiar o1 Add 331 3R 3 5 @R B1F usieoT 3 st BT #A1d6r B 3 Sit a8 bedl & b as aadar 3
@ - || : Jerar o1 dd 31 3R 3 [ aRn B uleiv s U 3 Tdl AT IIRU FPR Al 3

SURID Deil D relid 3, ofid e a1g fraedl 3 A A SUYD I DI wRIol HIfSTE :

[Question ID = 1958][Question Description = S2_qSNz_PG_GP10_Q08]
1. Both Statement | and Statement Il are correct/@ermer | 3iz || Gl 21t &

[Option ID = 7829]
2. Both Statement | and Statement Il are incorrect/@erer | siiz || il s1ciT &

[Option ID = 7830]
3. Statement | is correct but Statement Il is incorrect/mermer | 3@t &, fpog wemwr | slerT &

[Option ID = 7831]
4. Statement | is incorrect but Statement Il is correct/a@err | stert 8, fipog @err 11 2t 8

[Option ID = 7832]

4) Metacognition comprises which of the following skills?
A. Planning

B. Developing

C. Monitoring

D. Costing

E. Evaluation

Choose the correct answer from the options given below:
forgorferfaa 3 A1 wiot - Plot A Dlorar ifeRismer 3 onfdrer 3 ?

A. forilsIor @

B. fapre1 oo

C. uf¥digror wvon

D. aera forerfzor weon

E. Jeaiaor wonn

off fow a1 el 3 A A8 IR @1 wRIer BT :

[Question ID = 1959][Question Description = S2_qSNz_PG_GP10_Q09]
1. A, Band C only/@act A, B iz C

[Option ID = 7833]
2. A, CandE only/daer A, C 3R E

[Option ID = 7834]
3. B, D and E only/a@act B, D aiiz E

[Option ID = 7835]
4. A, D andE only/daer A, D siiz E

[Option ID = 7836]



5) Match List | with List Il

List | List Il

Learning Strategy lAction taken

IA. Planning and focusing attention |. Creating example

B. Organising and remembering Il. Self-questioning and self-testing
IC. Comprehension Ill. Setting goal and timetables

D. Cognitive monitoring IV. Using mnemonics, imagery

Choose the correct answer from the options given below:

Syt -1 Bt 3t -1l A AR Bifdre :

Rreht -1 Rrc -1l

(aiferorar Jvrofifer) (bt a1¢ wrfars)

A, forilsTel @ €Tl DIgA ol |. SeT8UT Wollol

B. 3ie1fda iz Fa201 wel Il. 3ircar gestor a 3ircar udlgron

IC. aieror Il. ciger @ Jerer Arofl frerfzor
D. 3istrelcaa V. ¥are a gferamacht o1 grirer

offd v a1 fyecul 3 3 w18l Iar gfore :

[Question ID = 1960][Question Description = S2_qSNz_PG_GP10_Q10]
1. A-l,B-Il,C-lll,D-IV

[Option ID = 7837]
2. A-ll,B-lIl,C-IV,D-I

[Option ID = 7838]
3. A, BV, C-l,D-Il

[Option ID = 7839]
4. A-IV,B-I,C-ll,D-ll

[Option ID = 7840]

6) The kind of sample that is simply available to the researcher by virtue of its accessibility, is known as
yftreriol @ 33 YR @I fpa wu 3 Siren Siar 3 Sit A 31Ueil uga @ oRuT fiermdl @Y 3ucted 3 -

[Question ID = 1961][Question Description = S2_qSNz_PG_GP10_Q11]
1. Quota sampling/@er yferarror

[Option ID = 7841]
2. Snowball sampling/sildfer yfererror

[Option ID = 7842]
3. Convenience sampling/Jfeemsors yferaeier

[Option ID = 7843]
4. Web sampling/da yfercrror

[Option ID = 7844]

7) Which among the following is the names for validity whereby researcher uses a future criterion measure, rather than a contemporary one?
I derar & fere foorferRaa 3 A o= ot 3 RRIB TRI vd 9liermdl FDICHr AGIGUS AT & FATel UR Il AIGIGUS AT BT YRIIPT Bl 3 ?

[Question ID = 1962][Question Description = S2_qSNz_PG_GP10_Q12]
1. Convergent validity/aif$rirst derar

[Option ID = 7845]
2. Predictive validity/sifreRa® derar

[Option ID = 7846]
3. Construct validity/aen derer

[Option ID = 7847]
4. Concurrent validity/mracf derear

[Option ID = 7848]

8) Given below are two statements

Statement I: If we are interested in the worldview of members of a certain social group, a qualitative research strategy that is sensitive to how
participants interpret

their social world may be preferable.

Statement IlI: If a researcher is interested in a topic on which little or no research has been done in the past, quantitative research may be easy to
employ because

there is little prior literature from which to draw leads.
In light of the above statements, choose the most appropriate answer from the options given below
ofiY <Y werar Ru se 3 ¢
oo - | : afe za oftrua arefiie s @ Rrea effcoivr 3 wfa wad 3, vo ¥l spncae oner ek siffEire 8 Al 3 sit FeHBRI 6t srucfl Ao gform B e a>
gfer Aa<t 3t
et - || : afe Rpeft onerasaf &t wfr ¥ forerr 3 3 PR srfla 3 aga @war ar wag oner orél g3m 3, Al AGIHD 9Nl Bl fRUH JTI BNoN IR VAT agd wa gd e sen
BRI WerIar firer a1
SWRIP DUoll D ATelIP 3, oifl f3u 31u frpedl # A AR U IR DI Rl Hifste @

[Question ID = 1963][Question Description = S2_qSNz_PG_GP10_Q13]
1. Both Statement | and Statement Il are correct/weror | iz || SYoll 218t &

[Option ID = 7849]
2. Both Statement | and Statement Il are incorrect/@err | siiz || Gleil s1erT &

[Option ID = 7850]
3. Statement | is correct but Statement Il is incorrect/weret | 3t 8, fvoqg weret | stere &



[Option ID = 7851]
4. Statement | is incorrect but Statement Il is correct/a@err | stert 8, fivog @err 11 &t &

[Option ID = 7852]

9) Match List | with List Il

List | List Il

Research Design Type of study

IA. Sampling design I. Pre-planned design for analysis

B. Statistical design Il. Structured or well thought out instruments for collection of datal
IC. Observational design Ill. Advanced decisions about operational procedures

D. Operational design IV. Probability sampling design

Choose the correct answer from the options given below:

Syt -| Bt 3t -1l A AR Bifde :

foctt -1 et -11
(omer f3sirsor) (31£2RT6 W1 YBIR)

IA. Yfrerror Rstrger I. Rescderor @ Rre yd Brifr RBomzor

B. wrif¥cercht Rsmzor II. articsst siogeot @ i ar R sawwor
IC. 9gror f3smsor 1. garctor ugferit @ der i a3 oot

D. garcior f3siser IV. Fsirerar yferarior f3siser

offa R 1w fredl 3 3 W&t I gfore :

[Question ID = 1964][Question Description = S2_qSNz_PG_GP10_Q14]
1. A-IV,B-I,C-ll,D-Il

[Option ID = 7853]
2. A-l,B-ll,C-IV,D-Il

[Option ID = 7854]
3. A-ll,B-Il,C-1,D-IV

[Option ID = 7855]
4. A-ll,B-IV,C-ll,D-l

[Option ID = 7856]

10) Given below are two statements

Statement I: In the 'before-and-after without control’ design, a single test group or area is selected and the dependent variable is measured before the
introduction of the treatment.

Statement II: In the 'before-and-after with control’ design, two areas are selected but the dependent variable is not measured in both the areas for an
identical time-period before the

treatment.
In light of the above statements, choose the most appropriate answer from the options given below
ofiY Q1 werer fow a1 B :
Dol - | : "TorRIquI & et gd - 3ii? - uq RBeirsd 3, v v UEIvT s AT i DI TRIol fop=1 S 3 3z SUarR @ 3R dlol A gd forslz a= @1 amuel fep=n Siren 3
@l - |l : 'foriqur @& arer gd - i - uaaq RBssar 3, <1 &) o1 arIor s Strar 3 uveq 3uar A gd, el 8 §iq) 3 ues Aarer srafr o fore fonfk ar @1 raet oiét R smar @
IURID el @ sirclie 3, offd e s1e fraeul 3 A TG IURYD IaR BT Rl HIfSTE :

[Question ID = 1965][Question Description = S2_qSNz_PG_GP10_Q15]
1. Both Statement | and Statement Il are correct/wmermer | siiz || Gloit 2@ &

[Option ID = 7857]
2. Both Statement | and Statement Il are incorrect/@err | 3iiz || Gloil steid &

[Option ID = 7858]
3. Statement | is correct but Statement Il is incorrect/wert | &t 2, fvog weret || skt &

[Option ID = 7859]
4. Statement | is incorrect but Statement Il is correct/aserer | s1ciet 8, fpoq werat | 3w

[Option ID = 7860]

11) According to communication research findings, some amount of gossip is necessary for
AT oNer forsepdf @ siopAR, foraifeRaa 3 Rpar @ fore &< aga °1u - 9ra smaea® 3 ?

[Question ID = 1966][Question Description = S2_qSNz_PG_GP10_Q16]
1. Pro-social motivation/zwimst - usfer 3czur

[Option ID = 7861]
2. Prevention of distortion/faefer forareor

[Option ID = 7862]
3. Extending communication range/3iuor 351 @ fazaif¥a aen

[Option ID = 7863]
4. Relocation of emotional affiliations /i Jedgarsii oI gor: Femmoior

[Option ID = 7864]

12) Which of the following are important in intercultural communication?
A. Valuelessness

B. Absence of respect

C. Power distance

D. Individualism

E. Gender roles



Choose the correct answer from the options given below:

3fodt: - ARrpier A I forsiferRaa 3 A ®lel - ol Asvayol 3 :

A. Feadleren

B. wraror Bt siqquf¥erfir

C. st & e gy

D. caftpare

E. &R yfirom

il fou 1o fareseul 3 3 A&l IR BT wRIoT B :

[Question ID = 1967][Question Description = S2_qSNz_PG_GP10_Q17]
1. A,Band Conly/@ac A, B aiiz C

[Option ID = 7865]
2. B, Cand D only/dae B, C sz D

[Option ID = 7866]
3. C, Dand E only/aaa C, D siz E

[Option ID = 7867]
4. A, BandE only/@act A, B sz E

[Option ID = 7868]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Smiles and laughter should be avoided when messages are serious.

Reason R: Non-verbal cues are always contextual like verbal communication

In light of the above statements, choose the correct answer from the options given below

ofiY A1 werot RRu st 3@ uep sifdrperot (Assertion A) @ %u 3 3l gRT 3Ad® PRI (Reason R) & »u 3

sifdreperet (A) : S/ Acsor 3R B, a9 el ol ardl sAISH A aden aifde
@R (R) : 31 - onfdees Jid>a onfécem - AYwur 6t aws saren yionelier axx &
IURITH DGl B ATelld 3, ofid U frascul 3 A A8 IR 1 w=IoT BRI

[Question ID = 1968][Question Description = S2_qSNz_PG_GP10_Q18]
1. Both A and R are true and R is the correct explanation of A/(A) siiz (R) a¥ail 211 3z (R), (A) & 31t wmeen &

[Option ID = 7869]
2. Both A and R are true but R is NOT the correct explanation of A/(A) siz (R) @il 21 & weag (R), (A) 6t 2wt caren ot &

[Option ID = 7870]
3. Ais true but R is false/(A) e 3, wog (R) 3Ricr &

[Option ID = 7871]
4. Ais false but R is true/(A) sric 8, wog (R) a1 2

[Option ID = 7872]

14) ldentify the sequence of human communication skills.
A. Public speaking

B. Group interaction

C. Relationship

D. Feed forward

E. Self - presentation

Choose the correct answer from the options given below
FATIdRI AFYHUT - BIolel D @I DI Usdlol HifSIe :

A. ardsifores siraor

B. a13ig sroar: oz

C. der

D. 6Is Bvras

E. ¥a gagfa

ofld R s1e Rl 3 A A8 IR BT =t BRI ©

[Question ID = 1969][Question Description = S2_qSNz_PG_GP10_Q19]
1. B,D,E,C, A

[Option ID = 7873]
2. A,C,D, B, E

[Option ID = 7874]
3. C,EAD,B

[Option ID = 7875]
4. E,C,B,AD

[Option ID = 7876]

15) Match List | with List Il

List | List Il

ICommunication barriers Examples

IA. Psychological I. Use of technical language
B. Organisational Il. Poor retention




IC. Personal |III. Functional specialisation

D. Semantic IIV. Fear of challenge to authority]|

Choose the correct answer from the options given below:

It -l @1 3 -1l 3 Farfera difSr @

fozeh -1 fazeht -1l
(iTeroT 3raten) (3c15201)

IA. Froitfersmifora |. cipofichl struT 1 Yeiler

B. isrofora Il forger gferemzor (Yar f¥eorer)
C. & Ill. goorafcaa fafdrsdtazor

D. oregref IV. qiftror @Y golidl T srT

ofld v s Rroocul 3 3 w18 Iar gfore :

[Question ID = 1970][Question Description = S2_qSNz_PG_GP10_Q20]
1. A-1,B-lIl,C-lll,D-IV

[Option ID = 7877]
2. A-Il,B-IIl,C-IV,D-I

[Option ID = 7878]
3. AL, B-IV,C-l,D-ll

[Option ID = 7879]
4. A-IV,B-I,C-ll,D-ll

[Option ID = 7880]

16) What number should replace the question mark?
7, 8,9, 10, 12, 14, 16, 20, 21, 28, ?
geat fiios @ @it Al Iz yferrenfira ol ?

7,8,9, 10, 12, 14, 16, 20, 21, 28, ?

[Question ID = 1971][Question Description = S2_qSNz_PG_GP10_Q21]
1. 27

[Option ID = 7881]
2. 36

[Option ID = 7882]
3. 32

[Option ID = 7883]
4. 29

[Option ID = 7884]

17) Xis as much younger to Y as he is older to Z. If the sum of the ages of Y and Z is 36 years. What is the age of X?
Y 3 X 3011 & B1e1 8 ol a8 Z A as18 Al Y 3iiz Z &1 3y o1 Aot 36 ad 3, at X & 3y a=ir 3 ?

[Question ID = 1972][Question Description = S2_qSNz_PG_GP10_Q22]
1. 16 Years/16 atf

[Option ID = 7885]
2. 15 Years/15 ad

[Option ID = 7886]
3. 18 Years/18 ad

[Option ID = 7887]
4. 20 Years/20 ad

[Option ID = 7888]

18) Two persons are walking in the same direction at rates 3 km/hr and 6 km/hr. A train comes running from behind and passes them in 9 and 10 seconds
respectively. The speed of the train is

ql cafep wos & feom 3 3 fop.afl. / #ie siiz 6 fop.afl. / & bt a1fer A et @ T wad oIS Jord WD A 3rredl 3 30k Jord urT A 9 3fiz 10 ADs 3 R Siredl 3 Yerent b arfex 3 :

[Question ID = 1973][Question Description = S2_qSNz_PG_GP10_Q23]
1. 33 km/hr/33 fp.aft./ der

[Option ID = 7889]
2. 22 km/hr/22 Roaft./ der

[Option ID = 7890]
3. 44 km/hr/44 Roatt. / et

[Option ID = 7891]
4. 35 km/hr/35 Roafl. / ger

[Option ID = 7892]

19) Given below are two statements

Statement I: Between 4 and 5, the minute hand and hour hand of a clock coincide at 20 minutes past 4.
Statement II: Between 4 and 5, the minute hand and hour hand of a clock are at a right angle at 40 minutes past 4.
In light of the above statements, choose the correct answer from the options given below

off<r Sf weror Rw ore 3 &

@et - | © 43k 5 D i, v adt & fere siik w@e archt Fyzai 4 g5 w2 20 fieic u? v A el 3



et - |l @ 4 3z 5 @ ffa v gt 6 Biore 3iiR #w@earcht Jgai 4 oot a2 40 fBiorc uz AADIOT UR Bl T
SWRIP BUcll d 3ATelIb 3, offa f3u s1u frveal # A A8 ITR &1 T Hifvr ©

[Question ID = 1974][Question Description = S2_qSNz_PG_GP10_Q24]
1. Both Statement | and Statement Il are true/@mermet | aiiz || el 21 &

[Option ID = 7893]
2. Both Statement | and Statement Il are false/@ermt | 32 || Gloil 3rR¥r &

[Option ID = 7894]
3. Statement | is true but Statement Il is false/mermer | 311 & , fbog et || R &

[Option ID = 7895]
4. Statement | is false but Statement Il is true/@err | spic 8, fvog werr || 3 8

[Option ID = 7896]

20) Which of the following statements are TRUE?
A If A's salary is 209 more than B, then B's salary is 20% less than A.
B. By selling 28 pens, a man gains the selling price of 4 pens. The gain is 15%.

C. The average of N consecutive natural numbers starting from 1 is M

Choose the correct answer from the options given below

Fgfoied oy R fdaR e
A. TG A BTG B § 20% I &, a1 8 BTddT AT 20 % FH I
B. 28 U o 35X U oAfdd 4 U 31 [ S8 & S0 a1y ffofd @ear g1 @Y 15% 1

C. 19 SR R N Had Uigd G13 1 o (N;” 21

e g U ool 5 ¥ Tl SR ST T S

[Question ID = 1975][Question Description = S2_qSNz_PG_GP10_Q25]
1. Aand C only/a@aer A siiz C

[Option ID = 7897]
2. Band C only/@ac B aiz C

[Option ID = 7898]
3. Aand B only/daet A siiz B

[Option ID = 7899]
4. Conly/@aa C

[Option ID = 7900]

21) Match List | with List Il

List | List Il

Proposition in Square of Opposition |Resultant Proposition

A, If "A" is True I. 'I" is false; 'O" is True

B. If 'E' is True Il. 'E" is false; ‘A" is undetermined
IC. If 'I"is True Il. 'E' and 'I' is undetermined

D. If ‘0" is True IV. 'E' is false; 'I' is True

Choose the correct answer from the options given below:

et -1 Y 3t -1l 3 Fafera Hifdr

foe -1 it -1l

(Rrter arof 3 e amerer) (foreoet cras arerer)

A. afe ‘AT d I.'I'srrca 3; 'O I @

B. afe 'A' wca ¥ Il. 'E' a1 3; A’ aiforerifya 3
IC. afe 'A" e 3 Il 'E' iz ‘1" arforertfya &

D. afe ‘A" e & IV. 'E'sprea 3; ' aica 3

ofla R a1e Rreseul 3 A A8 3a= gfore

[Question ID = 1976][Question Description = S2_qSNz_PG_GP10_Q26]
1. A-1,B-ll,C-Il,D-IV

[Option ID = 7901]
2. A-Il,B-l,C-ll,D-IV

[Option ID = 7902]
3. AL, B-II,C-I,D-IV

[Option ID = 7903]
4. A-IV,B-l,C-Il,D-Il

[Option ID = 7904]

22) When a middle term does not go further than producing a state of mental oscillation between two opposite views, the case is of
Sid g 3 ol faudla eftemlvil @ dia Areil¥ie Siector b} RFefi Scusol ol A 31E) ofdl S 8, dl s forgorfer3aa w1 Scanirt 8 :

[Question ID = 1977][Question Description = S2_qSNz_PG_GP10_Q27]
1. Fallacy of Viruddha/fdwg @1 as aiw

[Option ID = 7905]



2. Fallacy of Prakaransama/ya2uridt @1 @ ara

[Option ID = 7906]
3. Fallacy of Asiddha/aif3rg @t aw g

[Option ID = 7907]
4. Fallacy of Savyabhichara/3reifirar @1 as g

[Option ID = 7908]

23) The Fallacy committed in the argument

"All textbooks are books intended for careful study. Some reference books are books intended for careful study. Therefore, some reference books are
textbooks." is

forgaiferRaa ad 3 dlorar ad v 3

"9l urga yrad Araenciyda sreriel 3q Afga yrad 3 @p e grad ¥l grad 3 Sl Aaameigde seriel 3q #figa grad &' 3ra: @p e Yrad urgayrad 3 :
[Question ID = 1978][Question Description = S2_qSNz_PG_GP10_Q28]

1. Illicit Major/arder me=r

[Option ID = 7909]
2. Illicit Minor/arder usr

[Option ID = 7910]
3. Fallacy of four Terms/arR uci @1 a@ giw

[Option ID = 7911]
4. Undistributed Middle/sifpnfor g

[Option ID = 7912]

24) In an illustration of inference that the 'Sun moves, like other moving objects its position changes' represents
"Ik arferefier 3, o2t srowr siferefter awq B siifer sardhl srafafer ufvafefa 8kt 3 srqgeTer @1 UB Ic1820T RPAT@T yferfoiferra waar 3 ?

[Question ID = 1979][Question Description = S2_qSNz_PG_GP10_Q29]
1. Plrvavat Anumana/gdar

[Option ID = 7913]
2. $e$avat Anumana/ Srwae

[Option ID = 7914]
3. Samanyatodrsta /mrerrAreter

[Option ID = 7915]
4. Pakshta/ugrar

[Option ID = 7916]

25) Pick the incorrect statement
3Terd derel @ gfora :

[Question ID = 1980][Question Description = S2_qSNz_PG_GP10_Q30]
1. 'Truth' and 'Falsewood' may be predicated of propositions but never of arguments/ 'z’ siiz 'srRIcr A@ardRr @ ASIWUT & AD & Wog, AD D DG oTat

[Option ID = 7917]
2. In the case of deductive argument, the technical terms ‘correct’ and ‘incorrect’ are used/foemfoticara das @ #@icT i A& 312 ‘sTetd’ dadoiichl ual at yRieT 2l &

[Option ID = 7918]
3. Inductive arguments are neither valid nor invalid but evaluated as better or worse/seRrelc® das of dl der 21 3 312 of & 3Rl Iolb! HeAldol IR Al AGAR D U I = ST &

[Option ID = 7919]
4. The conclusion of a deductive argument follows from its premises necessarily/fopmreicad da w1 forea siforaria: 3uht amenfyat 3 forapetar 2

[Option ID = 7920]

26) What is Phishing?
fisfoier oo 3 -

[Question ID = 1981][Question Description = S2_qSNz_PG_GP10_Q31]
1. Sending data to a hacker/sii@st @t 32 ad fistoll

[Option ID = 7921]
2. Some-one sends legitimate-looking emails to users/@¥s ifep yeirepiail @t der Yefler Slot dret -3t dsrar &

[Option ID = 7922]
3. Search automatically for an item on the internet/scoic w bl #ig &t Faafera demer

[Option ID = 7923]
4. Checking the spelling of websites/dermsct @t adoft Sticor

[Option ID = 7924]

27) Given below are two statements

Statement I: If the sensor data is outside the acceptable range, then the microprocessor/computer will take action.
Statement Il: Sensors in the control application only send data to the microprocessor/computer when something happens.
In light of the above statements, choose the correct answer from the options given below

ol &Y @erot e ame 3 :

ool - | afe A2 s FHDRE Is1 A a182 F, dl AR PAF/ DRI DRIAE BB

@l - || : Sla @ afta diar 3 Biw ag & Briqur sigigieT i 33 AFTDIYRRR/ BRI DI DS Nerdr 3

IURITS DGl @ 3ATelld 3, ofid 3y s1u fravedl 3 A A8l Iar &I wRIel ISt @

[Question ID = 1982][Question Description = S2_qSNz_PG_GP10_Q32]
1. Both Statement | and Statement Il are true/@emt | 3iiz | Gl 3 &

[Option ID = 7925]
2. Both Statement | and Statement Il are false/@ermer | siz || Sl srI &

[Option ID = 7926]
3. Statement | is true but Statement Il is false/wemt | 31 8 , fbog @err |1 sRier &



[Option ID = 7927]
4. Statement | is false but Statement Il is true/@eror | sric 8 , foboq werr | er &

[Option ID = 7928]

28) Which of the following statements are correct?

A. A WLAN is a wide area network

B. A hub sends an incoming data packet to the correct device on a network
C. An IP address is assigned to a device at the manufacturing stage

D. A network Interface card is needed to allow a device to connect to a network
E. Routers inspect data packets received over the internet

Choose the correct answer from the options given below

forgoiferRaa wemwill uz fRar Hifde :

A. 3ecy el € Gol U arss Gy oicaas 3

B. @g (5a) 3ol arcl 3e1 e @I oicad U= Al f¥arsa @1 srar 3

C. ar# dl uar faforarfor arur 3 & Rarsa @ fore fererffya fosan sar 3

D. fp=ft ¥arsa @t olcaas A siisal &l 3igpfer B fRIu Slcads scebAa oIS &l sragamar 3
E. sczoic ur gre et dadel &l seR Siia i

W @l i A Dot A Derel A8 3 :

[Question ID = 1983][Question Description = S2_qSNz_PG_GP10_Q33]
1. A and B only/dact A aiiz B

[Option ID = 7929]
2. Band E only/dae B sik E

[Option ID = 7930]
3. Dand E only/@ac D iz E

[Option ID = 7931]
4. B, C and D only/dact B, C ik D

[Option ID = 7932]

29) Match List | with List Il

List | List Il

IA. Input device | Traffic light simulator

B. Output device |ll. Scanner

IC. Pointing Device [lll. Speaker

D. Sensor Device |IV. Trackerball

Choose the correct answer from the options given below:

It -l @1 3k -1l 3 Farfera difSe @

fozeh -1 fageht -1l
A. sorye f¥arsar |. < arse Rigerc:
B. 3m3eyc fFarsa Il. ¥dSorz

IC. warsféar Farsa lll. afrasz

D. #ier Rarsar IV. 2wz dfat

offd v s Rrescul 3 3 w18 3ar gfore :

[Question ID = 1984][Question Description = S2_qSNz_PG_GP10_Q34]
1. A-l,B-ll,C-IV,D-I

[Option ID = 7933]
2. A-l,B-Il,C-IV,D-lll

[Option ID = 7934]
3. AL, B, C-IV,D-Il

[Option ID = 7935]
4. A-ll,B-IV,C-lll,D-l

[Option ID = 7936]

30) What are Firewalls?
BRR arel a1 3idl 3 ?

[Question ID = 1985][Question Description = S2_qSNz_PG_GP10_Q35]
1. Used for address translation in the Network layer/dlcas R 3t v321 glRIcIonr @ fore geiler sl &

[Option ID = 7937]
2. Used to store the Network Interface Card/dlcads e @TS @ UsSRUl @ fore yRilsr BXedt &

[Option ID = 7938]
3. Used for Network congestion control/sicas @stort @elel @ fom geiler aledt &

[Option ID = 7939]
4. Hardware or software that sits between a user's computer and an external computer/yziicbr & DRIl sl argdt dwje: D dia oI SRR srerar Afucder

[Option ID = 7940]

31) According to the Sustainable Development Report (2020), the top-ranked country on the basis of the SDG Index is
Adaa ferr fraré (2020) @ siopAR v 3t Sit Jamic o e uR Adica FeIrerarer J91 3 ¢

[Question ID = 1986][Question Description = S2_qSNz_PG_GP10_Q36]
1. Bhutan/sgrer



[Option ID = 7941]
2. New Zealand/sgficivs

[Option ID = 7942]
3. Sweden/dlser

[Option ID = 7943]
4. United Kingdom/3eirses fipersar

[Option ID = 7944]

32) Which one of the following waterborne diseases does not require direct contact with water but a host to spread?
forgarferfaa 3 1 b2t St sifora o1 D YR @ foru St A yraet AU Hl odl avel v ared (Blre) &t sragadar Bl 3 @

[Question ID = 1987][Question Description = S2_qSNz_PG_GP10_Q37]
1. Cholera/3sr

[Option ID = 7945]
2. Malaria/seifsn

[Option ID = 7946]
3. Trachoma/gwman

[Option ID = 7947]
4. Schistosomiasis/RrdemRer

[Option ID = 7948]

33) Paris agreement entered into force when the instruments of ratification were deposited by at least 55 countries which accounted for, at least
forget 31 A Yorerar ool yferora Ieasior @wol arct @wat A @a 55 ol FRI sioIdelar d quq| S @ral @ arc Ui Jasiiar ygd g3m ?

[Question ID = 1988][Question Description = S2_qSNz_PG_GP10_Q38]
1. 50% of global CO; emissions/df%aa CO; 3cstor @1 50 %

[Option ID = 7949]
2. 55% of global CO; emissions/df%aw CO; 3mistor @1 55 %

[Option ID = 7950]
3. 60% of global CO; emissions/dfasm CO; 3cister @1 60 %

[Option ID = 7951]
4. 75% of global CO; emissions/df%aa CO; 3cistor @1 75%

[Option ID = 7952]

34) Biogas has a calorific value of about
TRNBIA DT BeAlSkI ATl PP fibdot 3 ?

[Question ID = 1989][Question Description = S2_qSNz_PG_GP10_Q39]
1. 5000 kcal per cubic meter/5000 fos.det. yfer @t afies

[Option ID = 7953]
2. 3000 kcal per cubic meter/3000 f.det. yfer ot ez

[Option ID = 7954]
3. 2500 kcal per cubic meter/2500 fop.det. yfer @ot afies

[Option ID = 7955]
4. 1800 kcal per cubic meter/1800 fép.d>ct. yfer ot afice

[Option ID = 7956]

35) Under which of the following agreements was it decided to limit the increase in global average temperature to well below 2°C?
forretferRaa 3 3 Rowr Aarsiia @ sehor dffawm sira aruarel 3 giy @ 2° C A bl o Mfdra sxor @ forofr fRsar s e ?

[Question ID = 1990][Question Description = S2_qSNz_PG_GP10_Q40]
1. Paris Agreement /331 Jmisiiar

[Option ID = 7957]
2. Kyoto Protocol/a=a Qiciesict

[Option ID = 7958]
3. Montreal Protocol/if¢zrer gictarer

[Option ID = 7959]
4. Rio Summit/fR3i fSra Jedcrer

[Option ID = 7960]

36) Match List | with List Il

List | List Il

IA. State with the highest number of universities |. Sikkim

B. State with the lowest number of universities |Il. Rajasthan

IC. State with the highest GER in higher education [lll. Bihar

D. State with the lowest GER in higher education [IV. Mizoram

Choose the correct answer from the options given below:

St -1 ot 2t -1l A AR Bife :

Rreit -1 il

A. fareafdemncril &Y siftrasasr e arer Isa |. Riferoa
B. frafirencril b1 syprear I arel A Il Irsrerct
IC. 3=a forgn 3 seaaw siifame aren A Ill. s
D. 3 fdren 3 fooraer siifane arer s V. Bsia

off<l fou a1e freul o 3 J& Ia= gl

[Question ID = 1991][Question Description = S2_qSNz_PG_GP10_Q41]
1. A-1,B-Il,C-IV,D-l



[Option ID = 7961]
2. A-ll,B-IV, C-lll, D=l

[Option ID = 7962]
3. A-lll,B-IV,C-l,D-ll

[Option ID = 7963]
4. A-ll,B-IV,C-l,D-lll

[Option ID = 7964]

37) The oldest university in India was:
SR 3 AT YRIoN freafdrenerr wior 2T or ?

[Question ID = 1992][Question Description = S2_qSNz_PG_GP10_Q42]
1. Nalanda/aircier

[Option ID = 7965]
2. Takshashila/astsrer

[Option ID = 7966]
3. Vikramshila/ framforen

[Option ID = 7967]
4. Mithila/fiferen

[Option ID = 7968]

38) Central Universities are:

A. established by the UGC

B. established by an act of the Parliament

C. established by the Department of Education, Government of India
D. funded by the Central government

E. Funded by the 'Niti Ayog'

Choose the correct answer from the options given below:
B¢ Rreafdencr -

A. g 5ft A grr renfir fpe s 3

B. e @ uo siftiformar grr renfa fpe s 3

C. 3R PR D PBign fwmer grr Fenfia fee s 3

D. B AbR g1 fad difta a3l &

E. 'sfifer smier’ g o diftre dia 3

ofi fou a1e fameal i A A Iaz oI wRioT IR :

[Question ID = 1993][Question Description = S2_qSNz_PG_GP10_Q43]
1. A and D only/dact A siiz D

[Option ID = 7969]
2. CandE only/@ae C 3k E

[Option ID = 7970]
3. Band D only/@ae B siiz D

[Option ID = 7971]
4. Band E only/dact B 3iz E

[Option ID = 7972]

39) Gross Enrolment Ratio (GER) in higher education calculated as:
S forg 3 e siTival srefurd (SfiEarR) 6l s1vren forForropire & St 3 ¢

[Question ID = 1994][Question Description = S2_qSNz_PG_GP10_Q44]
Number of enrolments in higher education 100 F=a (e & A o I

X
Total population in the age group of 16—-23 18 — 23 & MY FHE & e aTaE

x 100

[Option ID = 7973] . _
Number of enrolments in higher education I 121811 H i @l g
Total population in the age group of 18—23 ~ 18 — 23 & HY R ﬂ@fﬂ"ﬂ@ﬂ

[Option ID = 7974]
3.
Number of enrolments in higher education in the age group 18—23 18 — 23 % mﬂ%ﬁﬁfﬁl&ﬂﬂ@'ﬁﬁm

Total population in the age group of 18—23 18 — 23 & R GHg & o TG

[Option ID = 7975]
Number of enrolments in higher education in the age group 18-23 _ . 18 — 23 % AR WHg T I e J Tl B ue
Total population in the age group of 18—23 18 — 23 & A UG & o IS .

100

4.

[Option ID = 7976]

40) Choice-based credit system of index graduate level includes:
A. Core Course

B. Elective Course



C. Ability Enhancement Course

D. Environment Education Course

E. English Communication Course

Choose the correct answer from the options given below:
3R FoIAD® TR U2 TRiel 3renfea & fSeygurcht (2t & 2t va) o ProrferRaa onfier 3 :
A. Jet (PR) DRt

B. 3Re® @i

C. oerar Faefor wRf

D. urrfazvr farg @i

E. sio)sht 2iquur ki

Sfi feu 1o frasedl & A 718} I @1 w6t HifSru :

[Question ID = 1995][Question Description = S2_qSNz_PG_GP10_Q45]
1. A, Band C only/@act A, B iz C
[Option ID = 7977]
2. B, Cand D only/aaa B, C aliz D
[Option ID = 7978]
3. C,DandE only/wae C, D sik E

[Option ID = 7979]
4. A, BandE only/@dae A, B sz E

[Option ID = 7980]

Topic:- GP10_D2_SH1_SET2_C

1) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ofiI fow 31U Srerior @I eATeIgdd UGd? IAD LR U Y 31T Yool DI IR SIRIT @

adarel faenerersl Rrerfer @ acon @ FRIa: A DR & v 3 Sicrary ufvader @ werawsu auf teof 3 uf¥ader arerRIst ciasr uf¥aftia 3 srn 3 sil s1a Rl 3 Slor archt auf s v
et & =@l 3 & 3 el 3 werrareu dcrell 3k uddir giql 3 Bl $iiz 31 Jora forfdfa i 31T Yera asol oidl @2 urd 3 ufell arc & A1 & siftres Har arar &y, siferapdror,
qoil @ faeda1, Wers 3iR Wolel, ora al¥aril & forarfur, Selell a sroar aMfdifSues Jemll &t rendo, siforifea a siforifira ufeer St sIfeifaferll & Ioorrer @ Sia fafderar & wa Jol,
3 & dRYI, scafires Adcorofier ¥ A A 31erT - 31T 3R AR WU A ulked are §q, st mikRauferdRn fte A srcaftie HASY 3l Fearar 3, bt adarer Rrerfer & fore sawerl
3 ul2ell arc @1 v s, Rraa vafazer B Fafferes sifer 6 3, 33 & Haifere aifor 55 3

aera snsBrer Afdfer of ufkmell are vafaer @ fromer @ srerior fvan 3 oz Rrerfer & gferor @ fore aassiera siegeramd & & 31 Aflifa & Huld o1 @) & Aad d Bo ar sk iz
$AD YArdl DI el Bl D fo1e 3i. B. Brggerar &t sreasiar & v sroa AfHRT a1fda @2 & oF Brggerar AfHfer B srapeiamail @1 off BrRiffoaa o1él fesen srm  sMsBrer o 2013
3 & aftrr @ forg Aaraeht € off f dor archt RISt Bt ®IE Jo1 oIdl aar Ddaet ar - uid ad 8t clsl A IR YIDID Tcolt 3R SoId> BRI §A IR fiemer 3| oIRIe siferer
&1 g3t smucsii Bt e Ay 3l Sire Bt sifer Y srurs oISt A Tl 3 3R YT B Fari o gorfofafr 3 Fwst ad aPRl TG T Gt A 3 6 GRSt & Aad R of d
S 3

Man-made structures are unable to withstand the rain impact due to
Jirera for¥fa i aut @1 Yema asot oiff @2 urd & a=ifs

[Question ID = 1996][Question Description = S2_qSNz_PG_GP10_Q46]

1. The steepness of high altitude areas/siférs 3ars aret i Ht @rer i TSt &
[Option ID = 7981]

2. Change in monsoon behaviour in recent times/afer @ wrI 3 ool ®IdsR 9 uf¥ador ge &
[Option ID = 7982]

3. Non-stop rains over a longer period/sifér eidt smafer a® cpraR auf ardt 8

[Option ID = 7983]
4. Soil accumulation in the plains/@croft g 3 fargt fcrror Bl &

[Option ID = 7984]

2) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take



several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.
il fow 31U srerior @ eAGIgdd UGd? IAD LR U U 31T Yl DI IR SIRIT @

adarel fenererst freifer @ acon @ FRIA: A DR® & v 3 Sicrary ufvade @ werawsu auf teof 3f uf¥ader arerRIst crasr uf¥aftfa 31 sri 3 sil soras Rl 3 Slor archt auf s v
o1 ar =@t 3 8 3 el 3 werraeu dcrell 3k uddir giql 9 Bl siiz so1e Jora forfdfa i s3rmT Yera gl oidl @2 urd 3 ufell arc & 1 & siftre Har ard 8y, siferapgror,
qoll @ faedz1, Weré iR Fotel, Aot afl¥eril @ forarfur, Jelell a srowr @IS SewEil &t renuo, siforifera a siforifdra uricer Sizft sifefaf2rIl & Seorrar a Sia faferar & a o,
anfe @ orvI, scafire ddcorefiar ¥ A I srereT - eI ik ANR3® wu I ulkel are &g, S uilReferdir e 3 srcaftres A< sl FcaareT 3, &t adarer FFafer & forg Rl
3 a2l T @1 o s, R uafazer B Faffers sifer 6 3, 33 & waiferes aifor 55 3

aera snsBrer Afdfer of ufkmell are vafaer @ fomer @ srerIor fpan 3 afiz Rrerfer & gferor @ fore aassiera siepeiamd &t & 31 Aflifa B Hulé o1 &) & Aad d Bo ar sk iz
$AD Ydrdi @l sedl Dol D fere St d. wxgiieren B sreagian d v sroa ARART a1fda w2 & o wagdRorer Aldfer b1 srofeiasil o) 9t wraffsaa o18l fvan s snsBrer of 2013
3 & sferear @ forg daraeht € off f 3ot arch RISt ot ®IE Jo1 o1dl aaTr Ddaet ar - uid ad 8t cisl A A YIDID acolt 3R Sord> BRI A IR fiemer 3| oIrRIc Hifrer
&1 a3t smucaii Bt Faen Ay 3l Siret Bt sifer Bl srrurs o8t A Tl 3 3R YpiT B Fari @ gorfofafor A Fwst ad aPRl TG § I A 3 6 GRS D Aad RAeaa of Mt
S &

Which of the following factors have affected the western ghats?
(A) Sensitive bio-diversity

(B) Formation of human settlements

(C) Flora and Fauna of the area

(D) Promotion of unchecked tourism

Choose the correct answer from the options given below
forgorferfRaa 3 A fvor wr®I of ulkeh ac o genfaa o 3 ?

A. sieafere Fdcerefier Sia fafaerar

B. aiora af¥ =il @1 forartor

C. 8xq &t gorrufer 3iiz Sfia - sig

D. siforifea wricer @1 IoorrIer

ofi RO a1 el 3 A A8 Ia= ol :

[Question ID = 1997][Question Description = S2_qSNz_PG_GP10_Q47]
1. A and B only/a@aet A siiz B

[Option ID = 7985]

2. Band C only/d@ac B aiz C
[Option ID = 7986]

3. Cand D only/a@ae C sk D

[Option ID = 7987]
4. Band D only/dae B iz D

[Option ID = 7988]

3) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ofld Ru a1u srerior @ eARIgdd UG IAD LR U US 31T Yool BT 3w IR ©

adarel fenermrsl Rreifer @ acon @ FRIa: A DR & v 3 Sicary ufvadel @ werawsu auf teof 3 uf¥ader aerRIst ciasr uf¥aftia a1 srn 3 sil sora el 3 Slor archt auf s v
oot & =@l 3 & @ il 3 werrazeu dcrell 3k uddin &gl 3 Bl siiz so1e Jora forfdfa Gid 31T Y gl oidl @2 urd 3 ufell arc & e & siftres Sar ard 8y, siferaparr,
qoll @ faedz1, Werd 3R ¥otel, Aot eIl @ forarfur, JeMell a srer aifdifSras Sewil & Fenuo, siforifera a siforifdra uricar Sizft sifefaf2ril @& Seorror a Sia fafrerar @ @ o,
3MIfe & BRI, rcafirs AdAcorofier 3 A A 31erT - 31T 3k AR WU A ulkiel are §q, s mkRauferdRn fte A srcafts HASK 3l Fearar 3, bt adarer Rreafer o fore Iaverl
3 uf2nfl Trc @1 v s, Rraa gafazer B Fafferes sifer 6 3, 3A & waifere aifor 5 2

aera snsBrer Afdfer of ufkueft are vafazer @ fomer @ srerRIor fvan 3 oz Rrerfer & gferor @ fore aassiera sifeiamd &t & 31 Al B Hhulé o1 &) & And d Bo far sk iz
$AD YArdl DI el Dol D fo1e 3i. B. Dot &t sreasiar & v sroa AfHf a1fda @2 & oF Drgerar Afhifer Bt srapeiamail @1 off wrRiffoaa o1él fésen srm  sMsBrer o1 2013
3 & sftrr @ forg Aaraeft € off fb Sor archl RIS ot ®IE Pt oIdl Ao daet ar - i ad 8 cRidl A IR YIDID Tcolt 3R Sord> BRI A AP femer 3/ oIRIe Hiferer
&1 g3t smucsii Bt Fpaen Ay 3l Siret &t sifer I srurs o1l A Tl 3 3iiR YT B Fari @ ygoifofafor 3 Fwst ad aPiRl TG Tt Gt AE 3 6 GRSt & Aad Reaa off H
ST 3

A particular state in the Western Ghats has suffered the most because
a2l arc & v IS a9y @ & Falfto sifer o=l g€ 3 ? axiifs

[Question ID = 1998][Question Description = S2_qSNz_PG_GP10_Q48]
1. It has caused most damage on the environment/sor aifazur @t Jralfers gifer ugars 8

[Option ID = 7989]
2. It has most of the biodiversity hotspots of the country/zsi Sor 3 Sta fafderar @ Jraiférs dfe e &

[Option ID = 7990]
3. The state has many hill stations/rse 3 i@ uddtr e &

[Option ID = 7991]
4. The state has too many checks and regulations regarding environment/3rse1 3 wRifazur el sforp Aepsiiz faforme &

[Option ID = 7992]

4) Read the given passage carefully and answer the following question.



Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ofi 3w 31U srerior @ eATeIgdd UGd? IAD LR U Y 31T Yool DI IR SIRIT @

aclaret fremererst f-eIfer a o @ FRIA: 3t BR® & Ud 3 Sicrar] uf¥ader @ werau auf teof 3 uf¥ader AiTeRIsI *Iasr uf¥afela 8t sri 3 iR spiw sl 3 dor archl auf s v
oot & =@l 3 & 3 Sl 3 werrareu derell 3k uddiRa &gl 3 Bl sl so1e ora forfdfa Gid 31T Y sl oidl @2 urd 3 ufelt arc & e & siftres Harg arar &y, siferaparor,
qoil @ faedz1, Werd iR ¥otel, Aot eIl @ forarfur, Selell a sror aifdifSras Sewil & Fenuo, siforifera a siforifdra uricer Sizft sifefaf2ril @ Seorror a Sia fafrerar @ @ o,
3 & DRI, scafires Adcorefier 3 A A 31ereT - 31erT 3k AR WU A ulkel are §q, s mkRauferdRn fte A srcafds HAST ik Fearar 3, bt adarer Rrerfer & fore saverl
3 uf2nfl T @1 v s, R uafazer B Fafferes sifer 6 3, 33 & waiferes aifor 5 2

anera snsBrer Afdfer of ufkueft are vafazer @ fromer @i srerRror fpan 3 oz Rrerfer & gferor @ fore aassiera sigeiamd &t & 31 Al B Rulé o1 &) & And d Bo far sk sz
$AD YArdl DI el Dol D fo1e 3i. B. Dot &t sreasiar & v sroa AfHf a1fda @2 & oF Dot Afdifer B srapeiamail @1 off BrRiffoaa o1él fesen srm  sMsBrer o1 2013
3 & aftrs @ forg Aaraeft € off fb Sol archl RIS ot ®IE Jo1 oIdl aar daet AR - i ad &l cEidl A IR YIDID Aol 3R Sord> BRI A AP femer 3/ oIRIc Hfirer
&t &t amueTaii &1 o e 8 Siret bl FIfor B svurE orEl A Al 3 3R gypfer @ ¥t @ gorfolaior 3 st ad ceisl I a¥t QRIS U6 & b qrIt & Jaw fcame odl dwt
S &

What is the real tragedy with respect to natural disasters in the Western ghats?
ufpaft are 3 gropfere fRuer & e 3 arafie qridt a=n 3 ?

[Question ID = 1999][Question Description = S2_qSNz_PG_GP10_Q49]
1. Loss of human lives/sig=it &t Strer &t aifor
[Option ID = 7993]
2. The abnormal natural events/srRimeIe Y acom
[Option ID = 7994]
3. Not realising the gravity of the consequences of climate change/sierarg uf¥ador @ ufsvmeil <t ssftear <t swopyfer of alow

[Option ID = 7995]
4. Downgrading the disasters/fucrsii &t Juit @ wom

[Option ID = 7996]

5) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

oflY fou a1C arerior @ eAreIgdd UG A LR R YS 318 Y5l I IR IR :

aclaret femermrst Rreifer a acon @ IRIA: Sl DR® & vd & SIerar] ufyader @ werau auf teof 3 ufvador #ioRIsl wrasr uf¥afela 8 sri 2 sz sl el 3 dof arcll auf s v
oot ar ict & & A sielt 3 werrawsu dcroll sz uddla iqY 3 B sl sl Arora fBIfifa &Y s3rwT Ysira aset ofdl @2 urd ¥ ufkeh arc & A & ufdre Fard ard &, sifragv,
doll @ fded?1, Hars 3R wotel, Aol aRRIl @ foratvr, Jeiell a sroa aifdifSae Jeweil &t renue, siforifea a siforafdra wRicst Stz sHfafAf2RIl @ Ioortel a Sia fafderar @& o 3o,
e & DRI, scafre Adcerefier 3 A A4 3rerT - 31eT Sk AR WU A ulkeh arc g, st mRFuferdRa efte 3 srafere HALT sl Fewarar 3, &bt adarer Rrerfer a5 fore saverl
2 ulRpll are @ v s, Rrior gafavr &t aifers gifer 6 3, 33 & aifere sifor g5 3

Jera ssBrer Afdfer of ulkph are gufazer o fromer ot srezrRIer fpen 3 3l Rrerfer & yferopr @ e adszer segeia 6 3 s Afdifer B Rl @1 &) H A 3 o 3 sk sz
$AD YArdl Bl sedT Bl D fore St B. Dxgiiera B sreagian 3 v sroa AR a1fda o2 & o wadRerer Afdfer Gt srepeisii ) 9t wraffoad o181 s srRm sMsBrer of 2013
3 & uferea @ fore Aaraeh & oft & 3ot archt GrRIST B DIE Yo1 o1dt azel Dact ar - uid ad & celel A AT YIDIa aceld iR $o1d> DRI § JIRIfID foter 3| 9IRIc sifdrs=r
&1 gt smucTaii Bt et ANy B Sirer Bt aifor B srars o18k 31 AWl 3 3R y@pfer ot Fari D yorfolarfor 3 Fwst ad ceitl A TSt GrRICH A 3 6 qrI & Jaw fcae ol M
Sire &

The author of the passage regrets

STEN9l B RAD DI WG &

[Question ID = 2000][Question Description = S2_qSNz_PG_GP10_Q50]
1. Environmental ignorance on the part of policymakers/sfifer forafensii &bt werfazufter arsirorer 3t

[Option ID = 7997]
2. Vulnerability of high altitude areas/siférs 3ars arct &l &t sl dcorofterar 3

[Option ID = 7998]
3. Impact of environmental disasters/uzifazvfier fdomer @ gara 3

[Option ID = 7999]
4. Non-implementation of reports of committees/fdifcril &t Ruict @t fepenfoa ot fop?r smor 3t

[Option ID = 8000]








